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Instructions :

@My

Note :

2

1)

(2)

Smansgl ellamésEnd slwurs udaind o drersm eratugamen eflunisgs
Qamererayib. FsLHele Ganulmuer, oimns semsreamiiLmeriLb
2 L e@gwinss Cgflelsseab.

B woeg smUY owvloa LLEGCWL  awgeusHEb,
23 Cary PaugHEh vwaTu@ss Goauamr@b. ULhsEH u@rushE
Quenfled LwTLIHSSAYLD.

Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw diagrams.

U@ - I / PART - 1!

SMMSF) lamésErs@n alanL wafldseyLb. 15x1=15

Qar@éslulHerer wIHY eHenL_safld &a|b ghyamLw elenLamws
Caib0s0586 GHULOLer efleni_ulemanyb Caiggl eT(psayLb.

Answer all the questions.

Choose the most appropriate answer from the given four alternatives
and write the option code and the corresponding answer.
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L epiysen @asewelne GaaiGu Gmbs oimiswpaLb.
(1) Secured o mliygar (<2p) Public 2 mitiLjgar
(@) Private e muiysar () Protected o myliL el
members are accessible from outside the class.
(a) Secured members (b)  Public members
(c) Private members (d) Protected members

2. Qearaumeauareupder erg eugsen Spliys Camed Heorwng ?

(1) continue (<3y,) break (@) operator (/) while
Which of the following is not a keyword in Python ?
(a) continue (b) break (c) operator (d) while

3. gn @IUALL Csumes Qslaushars LwaTLESSILERD GHlepapuien Al
UGS :

(<) Pseudo @lapem (<=1,) glenemt Flyevaer

(@) AznEdser () Gamiyser

The small sections of code that are used to perform a particular task is called :
(a) Pseudo code : (b) Subroutines

(c) Modules (d) Files N

4. eussnaie esfwwrar sLHUUTLH Siemwliysailar cramanilEans :

(=) 5 (<) 3 (&) 6 () 4
The number of important control structures in Python :
(a) S (b) 3 - (o) 6 (d 4

5. QansEp e-mUyser QewnGHuden epald SHemisiLbEDS.

(=4) # (<) & (&) % ()
Class members are accessed through operator.
(a) # (b) & (c) % (d)

6. QuHCoT Gpms epejfleramwus GHLAGEDL sresse wrdH :

(=1) ug fleovw (<) e-payblena

(8) Qumper (rF) euenewenLoUL

The database Model which represents the Parent-Child relationship :
(a) Hierarchical (b) Relational

(c) Object (d) Network
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STSMS®Er Qe@Tés 6Ths Qe LweruBEmg ?

(1) * (<) + (@) = 7). &
The operator which is used for concatenation ?
(a) * b))  + (c) = (d) &

euggnear Blyeller C++ Hrene B(Mmellésa _ T D pssLILHEDS.

(1) Qeovagze (=) 2op @(Hsed

(8) Gfizge (rF) wdlelipssid Qg
Importing C++ program in a Python program is called

(a) Interconnecting (b) Wrapping

(c) Parsing (d) Downloading

SL_LeheT BTSSE N (HHE R i LalamamaniL B&a Lwet (B ma).

(<=t) DELETE ALL (<1,) DROP TABLE
(&) ALTER TABLE (F) DELETE
command is used to remove a table from the database.
(a) DELETE ALL (b) DROP TABLE
(c) ALTER TABLE (d) DELETE

ahg Cewpam Carbshssiul L yosdear Quiy wélemug HHn gy :

(=1) HIGH () (<) MAX() (@) MAXIMUM() (r) LARGE()
The function that returns the largest value of the selected column is :
(a) HIGH () (b) MAX() (c) MAXIMUM(} (d) LARGE()

2 (meuenol Pl STe| uens ___ erem SioWssLILHE DS

(<31) Concrete datatype (<21,) Built-in datatype
(@) Abstract datatype (FF) Derived datatype
The datatype whose representation is known are called :
(a) Concrete datatype (b) Built-in datatype
(c) Abstract datatype (d) Derived datatype

[ Hlpliys / Turn over
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12.

13.

14.

15.

4

sTASSTCa DPSEIECaTETED CFUDED

(1) @b (<) 2-eeflmambs
(@) return sapm () SDHELHE

A Function which calls itself, is called as :

(a) Lambda (b) Built-in

(c) Return statement (d) Recursion

o UL Seeg Puiighaa Cariy Guream 2@y sors Garlgsener
sWmer LwetUHb (penm : :

(1) xIs (=) 2 any (&) csv () @mwhlee
The mode which is used when dealing with non-text files like image or exe files :

(a) xIs mode (b) Text mode (c) csv mode (d) Binary mode

Quikie Hrorsssde, ghsaGe sarss® els wéHuysmer CFOEGL WEH
eTar eLP&SLILI(HILD.

(=1) Hevanedl(mSSe0 (<) oy CHAEEGL LTy

(@) uLble () wdienu CesilEEn LT

In dynamic programming, the technique of storing the previously calculated values

is called :
(a) Memoization (b) Saving value property

(c) Mapping (d) Storing value property

set A={3, 6, 9}, set B={1, 3, 9} araflev,

Qemreuqmd HlyeSlen Qeuaflui® Print (set A|set B) :

(1) {1} (<4)3,6,9,1,3,9
(@) {1,3,6,9 () (3,9}

Let set A={3, 6, 9}, set B={1, 3, 9}.

The result of the following snippet Print (set A|set B)
(a) {1} b) 3,6,9,1,3,9
() {1,3,6,9 d) (3,9
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LGS - I1 / PART - II
GSOILY : sTemauBugnd opm1 eNaTssErsE el walssalb. N o 24 -&@
SLL_muwns ollenl_weflése b, S
Note : Answer any six questions Question No. 24 is compulsory.
16. Tuple T&IPOIED GTadian ? THSHSGHTL(H SIHS.
What is a Tuple ? Give an example.

17. uTOWEENE) GTETMTE) GTET6T ?

What is a scope ?

18. awugsrailer srHms eTeuaurm BEEeumus ?
How will you delete a string in Python ?

19. range() Qewpsmm GOLY cuedrs.

Write note on range () in loop.

20. Q\XTHG(LP GTETMTE GTEITGT ?

What is class ?

21. Hy6e| SWMEHSHD GOl GTesTMmey GTeomest ?
What is Data Manipulation Language ?

22. CGsridker Qarmblene (LPePDEL&MmETS GHILIABS.
Mention the default modes of the File.

23. srey ST ALUGSSSH aumsmwl UligussiHs.

List the general types of data visualization.

24. Gémeu@Bb LSSTET &M pemudlest Qeuaflui® wrg ?
: Squares = [x**2 for x in range(1l,11)]
print (squares)
What will be output of the following Python code ?
Squares = [x**2 for x in range(1,11)]

print (squares) . [ Hpiys / Turn over
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L@S - I / PART - III
@HuY : aCsenin Ml NeméaErsE eferLwallEsa)n. efar eram 33 -&@E HL-LMWLD
eflenL_wef &g ey L. | 6x3=18
Note :  Answer any six questions. Question No. 33 is compulsory.

25. @eLpssdHen uaTys samsmats GOLNIGS.

Mention the characteristics of Interface.

26. Quiig Hrersssmstt upd Helr sidleuar wreney ?
What do you understand by Dynamic Programming ?

27. pw Gewup@Hew a@SHEST_HLET 6T(LpS)s.

Explain Ternary operator with an example.

28. while wL &dleér QurgleugeugHemar er(pgis.
Write the syntax of while loop.

29. ceil() wpoid floor () Glewd smmsemer CoumLi(hés)s.
Differentiate - ceil () and floor () function.

30. csv reader() wHmb Dict Reader() auflperps@rsE QoL Cuurer Gaumur®
wmg ?
What is the difference between csv reader () method and DictReader () class ?

31. fetchone() wpmbd fetchmany () Caumi(H55s.
Differentiate fetchone () and fetchmany ().

32. GamhssuulL ayeugams JFSHD eussTen Blrene eT(p&is.
Write a Python program to display the given pattern.
COMPUTER
COMPUTE
COMPUT
COMPU
COMP
COM
CcCoO

C
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33. umbey SLEUUILH sppsmar QararL C++ Elydsmer Gus@D DUSHTET
Nrdaaicn LigHevasmer T(HSHIS,

Write about the steps of Python program executing C++ program using control
statement.

Lu@&d) - IV / PART - IV
@O : SieTEs clamssEniEn oflanwellésayib, 5x5=25
Note : Answer All the questions.
34. (=) List erampmed eremen ? List, gan pairs erenm SievpdsliuBEng ? T(H58)5-
sTL(hLen efleuflgsayib.
, ATV
(<) afleswpean CoLd wanamw ederdésab.

(a) What is a List ? Why List, can be called as pairs ? Explain with suitable
example.

OR

(b) Discuss about linear search algorithm.

(1) emuggrafler 2 erer eflvanaaeT LDHD eT(PSIS.
{606V
(=) Daraumd o creflaenss Qewp smsamar c6T&Es.
(i) 1id()
(ii) chr()
(iii) round()
(iv) type()
() pow() |
(a) Discuss in details about Token in Python._ i
OR
(b) Explain the following built-in function.

(i) id()

(ii) chr()
(iii) round()
(iv) type()
(v) pow()
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36.

37.

-38.

(<) Yemateomey Tuple aTenimred eremtast ? T(HHEHIEHTL(HL6m N6 @a.
D606V
(=) epey Hlevewulen cumsasamar efeufldseab.

(@) What is Nested Tuple ? Explain with an example.
OR

(b) Explain the different types of relationship mapping.

(<=1) getopt() eramp Gewpammden Qgmiflwame TS, Fem ClEw)mHUSaeTyLD,
Smulwen iy m@ﬂqammufe eSlen&&s.
JEAMOVE
(<) DBMS wpmiib RDBMS Geumiui(és)s.
(a) * Write the syntax for getopt() and explain its arguments and return values.
OR
(b) Differentiate DBMS and RDBMS.

(<=1) adlevCLrlgmbd wHmb ulmL auemTuLRSERsE @l Cuurar Caumun@-
senar 6lleTsEs.
NN
(<) continue smpPlener aT(HESIGET_ (DL elaTé@e.
(a) -Explain about differences between Histogram and Bar Graph.
OR

(b) : Explain ‘continue’ statement with an example.
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